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ENIG1

TBON2
	A car leaves Milan going to Novara at the speed of 50 Km/h. After 10 minutes another car of the same model leaves Novara for Milan at the speed of 70 Km/h. Knowing that the distance between the two towns is of 50 Km, when the two cars meet one in front of the other, which one is closer to Milan?
The one that leaves from Milano
	Time bonus 2’


	
	
	

	 

ENIG2

TBON5
	Whith the 6 sticks build 4 triangles with all the sides equal.
Triangular base and pyramid in the centre 
	Time bonus 5’

	
	
	

	 

ENIG3

TBON2
	A leaf falls in a lake and doubles its surface every day absorbing wather. After 100 days it has covered the entire lake. How many days must pass for the leaf to cover half of the lake.
99
	Time bonus 2’

	
	
	

	 

ENIG4

TBON2
	Find the next number of the following list: 1, 3, 7, 15, …
31
	Time bonus 2’

	
	
	

	 

ENIG5

TBON30’’-3’
	What's the meaning of the following words?:


astuccio, pipistrello, cavalletto?   



cuscino, colla, gomito 
           

[if all the answers are correct the bonus will be of 3 minutes, otherwise it will be of 30 seconds for each correct answer]
pencil case, bat, tripod
pillow, glue, elbow

	Time bonus 

30’’-3’

	
	
	

	 

ENIG6

TBON2
	If you call me I don't exist anymore. What am I?
SILENCE
	Time bonus 2’

	
	
	

	 

ENIG7

TBON5
	Find the next number of the list below:  1113213211
1

11

21

1211

111221

312211

13112221
	Time bonus 5’


